
Edexcel Paper 1H Practice Booklet 
20 practice questions based on the advance information

Copies of this booklet, as well as hints & solutions, are available at bossmaths.com/advanceinfo 

Question 1 

Which is greater,  of 87 g or 14% of 800 g? 

Question 2 

Write 7 as a product of prime factors. 

4
3

3.8 × 10
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Question 3 

(a) Complete the table of values for 2  

(b) On the grid, draw the graph of 2  for values of x from –2 to 3. 

(c) By drawing a suitable straight line, use your graph to find estimates for the solutions of 
2  

y = x −2x − 4

y = x −2x − 4

x −3x + 1 = 0
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Question 4 
Simplify each of these expressions as far as possible. 

(a)  

(b)  

(c)  

Question 5 
Expand and simplify  

5 44 − 8 11

34 × 17

−7x − 3(9 − 2x)

(x − 3)(x + 10)(x + 3)
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Question 6 

Work out 
 

, writing your answer in standard form. 

Question 7 
A cuboid has length x cm, width y cm, and height 9 cm. 

You are given that  and that . 

Calculate the upper bound for the surface area of the cuboid. 

(8 × 1015)−
2
3

3x + 8 ≤ 29 18 − 3y ≥ 12
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Question 8 
The diagram shows the lengths, in centimetres, of the sides of a right-angled triangle. 
Find the value of x. 
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Question 9 
The interior angles of a triangle are pº, qº, and rº. 
You are given that  and . 
Find the mean of p, q, and r. 

Question 10 
(a) Write  as fraction in its simplest form. 

(b) A bag contains 330 sweets. The probability of picking an orange sweet from this bag is . 
How many orange sweets are in the bag? 

p = q − 12 r = 2p + 20

0.1 ·0 ·3

0.1 ·0 ·3
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Question 11 
The graph shows the distance covered by a cyclist for 6 seconds. 

(a) Estimate the speed of the cyclist at the moment she had travelled 5 metres. 

(b) Here are four sketches of speed-time graphs. Circle the sketch that represents the cyclist’s speed 
during the six-second period shown above. 
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Question 12 
The diagram shows pentagon. Various angles are marked on the diagram. 
Show that the ratio of the pentagon’s largest interior angle to its smallest interior angle is 5 : 3 
 

Question 13 
There are two biscuit tins. Each tin contains a mix of chocolate biscuits and plain biscuits. 
The ratio of chocolate biscuits to plain biscuits in the first tin is 3 : 7 
The ratio of chocolate biscuits to plain biscuits in the second tin is 4 : 1. 

Enda picks at random one biscuit from each tin. 

Work out the probability that Enda picks two chocolate biscuits. 
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Question 14 

This triangle has area  cm2. Find the value of k. 

Question 15 

An aluminium alloy has a density of 3 g/cm3. 
A cube of mass 375 g is made of this aluminium alloy. 
Work out the side length of the cube. 

k
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Question 16 
This cumulative frequency graph shows information about the heights, in cm, of rowers at a rowing 
club. 

Work out an estimate for the interquartile range of heights of the rowers. 
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Question 17 
OAD and OBC are sectors of circles with centre O. 

The points O, A, and B lie on a straight line. Similarly, the points O, D, and C lie on a straight 
line. 

OB has length 13 cm and OD has length 12 cm. 
 

Find, in terms of , the shaded area ABCD in cm2. π
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Question 18 

(a)  can be written in the form , where a and b are integers. 

 
Work out the values of a and b. 

(b) Hence, or otherwise, work out  

x + 2
x − 1

−
x + 3
x + 1

x + a
x2 + b

1002
999

−
1003
1001
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Question 19 

The diagram shows the points, X, Y, and Z. 

The vector  = –a – 5b 
The vector  = –4a – 3b 

Q is the point on XY such that XQ : QY = 5 : 1 

Find the vector  in terms of a and b. 

⃗XZ ⃗YZ

⃗ZQ
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Question 20 

(a) The point A has coordinates (7, 3). Given that A lies on the circle with equation x2 + y2 = k, 
find the value of k. 

(b) Find the equation of the tangent to the circle at A, giving your answer in the form y = mx + c
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